/‘xipm“z 1 Chapter 2 N()ie ' Graphing Lines
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9I5: 5/ 19 (B) 2.1 Worksheet -
9;"6;"19 (A)
_omno@ | * 22 Womdhed
Thursday 9/12/19(A) . 24 Pages 80 82: #11, 15 .2.8 32, 33 Bonus: #12
Friday 9/13/19 (B)_ For #IS 16, 18 20 2E 23: write your answers in slope- mtelcept form.
Tuesday:.._:_.:._ 17-(‘:1:_9_(]3)_ o 8
Wednesday 9/18/19 (A)
Thursday 5/19/19 (B) + Inclass: Ch 2 Test

e« HW: none @

NOTE: Be prepared for daily quizzes.

Students with 100% homework completion AND no late/missing homework for the
‘semester will be rewarded with a pizza party. Students with 100% homework completion
and no missing homework for the semester will get a 2% grade increase.

Do you need a worksheet or a copy of the teacher notes?
Go to www.washoeschools.net/DRHSmath

1. Onfine texthbook information: Go to www.washoeschools.net
* Click on Student and Parent
¢ Click on Envision
e Click on Sign In - sign in using Washoe\studentID#, and then your school computer
password. {Note: use a back slash not a forward slash,)
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Algebra 1 Chapter 2 Notes Graphing Lines
2.1 Notes: Slope-Intercept Form

Exploration: 'Alani wants to buy a $360 bicycle, She is considering two"
payment options. The image shows Option A, which consists of making an -
initial down payment of $70 and then 5 smaller, equal-sized weekly payments
until she has paid a total of $360. Option B consists of making 6 equal
payments over 6 weeks in order to pay a total of $360.

A) What factors shouId Aiam take mto conSIdelatlon before decxdmg wh1ch o ok Weok Mook Weck wEeu

OpﬂOH to choose? ‘L-}[-) W ot Ch { 81 S l’\e, C"L\{’é)fft )fQ t_’)ﬁ(j £ (&(,L\Weekly Bike Payments

weeil Hoas muth C%__;s' Py Wﬂw

B) How much would Alani have to pay for each weekiy payment with option A? Write an equation to model
the amount paid 4 after m months. B —

258 A= S8m, 170

e A
290 + § = 58 ﬂ@“f“%'

Key Vocabulary . - (LD
Slope of a hne (,m ) ‘0 3 “Pﬁ 3 slwpe | y-intercept of a line { O-, ‘Z} )
t " .
AN C/lrus.m]a“ \\n{ e \j»—»o,)m_r
Slope- -Intercept Form e R e ! bej\rw\lnj po! ’LAY A

y“wm +§ Aane

S‘W v
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Algebﬁ‘a 1 Chapter 2 Notes Graphing Lines

- Example 1: Find the slope and y-intercept of the line y = ~ gx + 2. g;_,,é‘“«g A
Then graph the line on the coordinate system provided.

MEREE Ty En 1
S £5 € —T>

A
# b= ) . " SERE
5"51“’-(‘%- ‘r\(;rr_ B lﬁ"’ &X‘S

ot
£

rim
-
|

v
You try! Example 2: Find the slope and y-intercept of each line below. Then graph teach line.

or 3

a)y=3x+1 m* iﬂs} & | b)y:——4x’§”‘D 4a .7 ¢) y=lx—5 mwjﬁ?\
- o =)
£ o &
Y i J’&\OQOE’% Y %bﬁ@s
A ﬁf"\ A S -
/ ;\%\ ‘‘‘‘‘ 4
! - %‘;: ' . ﬁ
< i > x <€ - S € ~1- — X
N ]
) .
L A A v
Example 3: Write the equation, in slope-inter cept form, of each line graphed below.
a) ¥ _ __ b) ¥ T .
o PEINC T S
=Sun 35 5 in %
R be3 HE e =
< T \ s T e}
| 7 “ﬂgﬂ){ *\’3 | = x— 1 \
A - A

You try! Example 4: Write the equation, in slope-intercept form, of each line graphed below.
d) y b) y

_ Y S - 7D, . A = 3 o

_, -1, 2 www.washoeschools.net/DRHSmat
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Algebra 1 Chapter 2 Notes Graphing Lines

Connection: How can you tell by looking at the g1 aph of a line if the slope should be positive or negative?

Y

NM('%A("")Q\N\/;’ Wg\&?\d
p‘of»l bve N |
The Slope Formula L D?& if) sio(m

D 7 o e
/<:_ - X Ax
Example 5a: Find the slope of the lme that passes through the points ( 7 2) and G, j)
o
m= —4 ~% ~ b
-

Sb: Find the y intercept of the line that passes through those same points.

(o, - Tbe-d

5¢;  Write the equation, in slope- mtelcept form of the hne that passes through those points.

—

[ A

(0 ‘*3) ook o o1t with ww‘v of O,

K Yy X My
Example 6: Write the equation, in slope-intercept form, of the line that passes through (-3, ) and (-6, 2).

e 2-h )

[

—fy "D -5

You try! Example 7: Write the equation, in slope- intercept form, of the line passing through ore set of points
listed below. Option A is the easiest choice, and Option C is the most challenging one. Choose the one that
you are the most ready to attempt.

x4 K2 Yo Ko M Ao He : ./X‘i%i::- K 4
A) (5,3)and (0, 11) B) (3.2.7) and (4.8, -9) C) (5. -2) and (-6, -8) }
= B T A e a B T T/
= ?3 %0 S ST ) R R G
by - - 1o y2an ST
\§ i ;:) - T : ?’}’“}x r\—’Lj _________________________________________ b ) —’r rd ﬁ«,&
oy TN = oK Yh ) \j;wtoma i e G
/___ e N -—? Lg 20y T e {____( .................... - a 3% o /
: WWW, washosschools. net/DR Smath ~3° jo 4
i
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b 1 Chamtor 3 e Ll Slope ‘
Algebra 1 Chapter 2 Notes A;ﬁ.&cﬁ w’iiﬂ‘j“"/j ,\j,;,vg-: (;m shing Lines
- Example 7: Change the following equations into slope-intercept form. ¥ 15D Ay, J
‘a) 3k—y =10 b)) 2k +8y=-11
~3x ~3x TEX =2

- o . =2k =L
X% > LN

A+ »3“ X %—",3. P
A7 Ty b8 : .
5o L /
LA -
Yy - L{’ =
By - ”\’5,.,
D, @

CONCEPT SUMMARY Slopa~intercept Form of a Linear Equation

y The slope-intercept form of 2 tinear equation is used when the slape and the
" y-lntercept 6f a line are known, - .

> The slope-intercept form of 5 line isy=rx+ b,

slope p-intercept

pz-2x -1

R The fing has a siope of 2. The line has a slope of -2,
The y-intercept is 1, The y-inlercept is -1,

sl

www.washoeschools,net/DRHSmath




Algebra 1 Chapter 2 Notes
2.2 Notes: (h, k) Form of a Line pd

”-/(

Exploration #1: Allie received a gift card for her local coffee shop
Every time she goes to the shop, she gets a medium coffee, Thegraph
shows her gift card balance after buying 2 coffees and 4 coffees.

A
Part A: Find the rate of change (slope) for the line tk}atfzzontains the two
points shown. What does this represent in this proplem?

m = 149019700 /,é_ﬁ

Y- V%
The oL one cop D i 6{,}%’3”%{)' il
ol

N
s

Graphing Lines

[
fon}

Gift Card Balance {3}
~

rk

2 4 6 8\&0
Medium Cups of Cotfee

Part B: Find the y—intel‘cept"ﬁfor the line containing these points. What does that represent in this problem?

14.710 //;ﬂr s
N 2SS

PNt r/’ 4’»\_0_ S"}’ﬁ‘/%’) % {a«ff\-@‘f";jw“ o LV g ) 70 Te WT&( .

12,39
3 285 /

Part C: Useyour results from Parts A and B to write the equation of the line that passes through these points.

— =2.05% ¥ 2

www,washoescheolsnet/D RHSmath




Al gebra 1 Chapter 2 Notes Graphing Lines
_(h, k) Equation of a Line: \/ - O( —in ) K

Lo/

510;7{- LL\ K)
Mts FXNA’&T‘ Q‘q
ling

¥ ode I/\‘J has o S)g;, (..Low-g/ﬁ
Example 1a: Write the equation of the line, in (h, k) form, that passes thlough (5 2) with a slope of H3w'
| = m x4 +£

[ 777777 g '*w-*étx s‘) »—9« \

Ib: Write the equation of the line from Example 1a in slope-intercept form of a line.

N LS ke =
¥ Combina lile Sems 9= T30-2y-2
RNl

3,3 x 13 Wf
- 5 ¥ \2;)

You try! Example 2: For each line described below, write the equation in (h, k) form. Then, write the
equation in slope-intercept form.

| a) through (% ;f) with a slope of 2 b) through (i\; }6) with aslope 0f~
(R, ) form (4= 2e@3) v REES S YA i
slope- — ”
intercept G x £t ! RO EE P
I R e P
- |~ \

www.washoeschools.net/DRHSmath 7




Algebra 1 Chapter 2 Notes

Graphing Lines

Exploration #2. Consider the linear function that passes through the points (6, -2) and (9, -8).

Part A: Plot the two points, and draw the linear
function that passes through them.

'—"--.--—3-—5-—4'«1 0L LRI

Part B. Find the rate of change (or “slope”) for this
linear function. Either show mathematical work, or
describe how you found your solution.

Part C. Use the rate of change that you found'in Part
B in order to find the y-intercept of the function.

\jwm"{ =

Part D. Write the equation of the line in slope-
intercept form. \ } = -2x 10

Part E. Using the pomt (6, -2) dnd the slope you
found in Part B, write the equation of the linear

function in (h, k) form, \f a2 {-te) 2

Part F. Using the point (9, -8) and the slope you
found in Part B, write the equation of the linear

function in (h, k) form. Y= ~2 [y — —-q) ~&

Part G. Convert the linear function you wrote in Part
E to slope intercept form. What do you notice when
you compare your answer to Part D?

Part +y, Convert the linear function you wrote in Part
F to slope intercept form. What do you notice when
you compare your answer to Part D?

Functional Notation: {303%\_

Y=-2x 1272 = - 2x K185 .
r""‘\/“*v N - - LAk
B \3 Wrﬂ' ..... Lgpl A o
AN gz ki’"zw“‘“’“
Begind [N A [N
LU= 3 = ()

Lm0 G59)
Lt )= 0wt

by

Example 3: Wnte the equatzon of the hne in (h, k) form, that contains f(— 11) = —2 and has a slope of 2.

DD b

(1 =20
Wl

You try! Emmple 4: Wr :te the equaﬂon of the lme in (h, k) form, that contains f(14) = —5 and has a slope

www.washoeschools.net/DRHSmath
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/n‘\,]gebl'":;i I Chapter 2 Notes

Graphing Lines
Using (h, k) form to write the equation of a line (in slope-intercept form) that passes through two points
(D Uwse me 3279 O Yo shpe.
Ky~ X

O Wi twe Q'Ow& as [k, kKD - o rite o U»\ ) "%)fm
QC&?S’ME‘\C{& d Conmboing \iKe Serms . _d;r.s/:m
Example 5: Write the equation of the line that passes through
slope-intercept form.

(5 -3) dnd ( ) I Write your final answer in
i Ha
ys Y 13 _

Ka
KK{H\\
, i al -
i oA A 2 Y=5)~3
L -5 =4 “ \J[ Lf“(
5 .3
Lﬁa ““z“‘;K g (o
L, S5 2
‘jw TR
RS
You Try! Example 6: Write the equation of the line, in slope mteicept form, that passes through the given
Jpoints.
X.; Lj\ X m
a) (6, 2)and(8 IO) L&:: LE“TX‘“E@) )
= 1072 _ g
e = 0 Lg - zq, u{_Z’
b 2 4= x=24 +2
v
|

by f(—1) = 9and f(-3) = 4.
f
L

lri@ ("Bf‘!_) 3
K

Sy
h Ko Yy ‘j;t QJLX%IB T
Y= q Cf :;méw. ’"}WS—@ (ju. i d
S3e Ttz 4= <73 =
N
. R
\ EY“ %jx . ;?:ﬁ.




Algebra 1 Chapter Z Notes

Graphing Lines

For Examples 7 —9: The table shows the price that a customer pays for a certain “#of . | Price(in
amount of invitations ordered. Each price includes a price per invitation as well as vitations |- dollars)
a one-time set-up fee. Cx X
b Chvox oy 2 guw‘ss: - 1:(00)
7) Write the equation of the line, in slope- mtercegt form that represents the price
based on the number of invitations purchased. (2 5 éﬁiﬂ { 6;@ 190 ] 50 140
: e L
vz 140 ~ 0D GO r: o Yoo Y 75 180
Sﬁ) 53’ ST 100 220
3 (%35 s ST
. _:3 e [0 \_) V-”'""*'“""S:.?\ ™o + O
P sa T L9 TEe
8) What is the price per m_wtatmn” 9) What is the cost of the one-time set-up fee?
3 % ola & i \90 { ;an pe. k) Y LB; I
. ST e . \
” & 1, 60

You Try! Example 10: Write the equation, in slope-intercept form, that represents the linear data shown in

each table below, / U, Ki Yq
9 x L@ (50 Qo oy e (g\ 270 (473

15 100 g, Xy, o -4 ~i% auaey

20 115 vy LS00 . 3§ 23 ) 24 M= Ufl

z,s,) Y 3 )
25 130 2 27 = %
30 145 3 3>(~>< '''' By 4 .30
—

Example 11: Which of the following equations correctly model the linear \ -
function shown? Choose all that apply.

,,,,,, 5 N (2 1) \*
A’)y-——(x;HZ)+1 ‘VW{}JM'-}: T\E!». < nd S x
B)y=rfc=1+2 2 o \
Oy:—f(x—@—- ; -

D)y =l (x' +6) =4 ij*\l - 1y S

()y———(x 2)+1 \ff‘l 3. k=) A
(Ij‘) y—--~x+8 Lﬁ“ ”‘Zzi;x iy 4 j
-~k Ty /

www.washoeschools.net/DRHSmath
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Al ge‘baga 1 Chapter Z Notes

- 2.3 Notes: Standard Form

@-up: For#1-3,usey =3x—6. \

Graphing Lines

1) Graph the line. 2) What is the y-intercept of the line?

Y ‘ —H(" . )

AT | (O) 6

‘ / ‘ ;_
3) At what x-value does the line cross the x-axis?
4
<€ 2 x
Ien (2 0 )

Key Yocabulary
Standard Form of a Line A)( 4 Bj =

C/JWB;C Min@gﬂ'suu /"‘jc iS ‘j'PS’}”h\J“L>

X —intercepts ¥ 1l yalue oF x y —intercepts ¥ 1l valw. of é/
VSISO 3’3@- e X

(x,0) (8,9 )

www.washoeschools.net/DRHSmath . 11




Algebra 1 Chapter 2 Notes Graphing Lines

Example 1: Find the x- and y-intercepts of the graph of each equation:

a) 4x +3y =24 . b) x — Zy.: -70 .’*
At Yoiay ki L g
tx + 3od= 1M t(0) “\’3\5‘31‘-’1 0)».”'»7@ (o) Zj“‘ 70
| -z T R=I0 =10
Lf ?(."—"3- 2/"/ ?)‘j "l ?( 77 rﬂ? j j"__ ’Lw :;;;

St A R R Bﬁé’*@m ""’ rsg ___________
L[b L0 lj(o ERN T35

ou Try' Example ind the x- and y-intercepts of the graph of each equations—
a) =5x + 3y =15 b) 8x — 4y = 16
BECREREE S e g
- Sx= IS \ 3y=I5 Bacl | —dy=ie

LR [ x> 2 R treee
Ef@“ \h*-ﬁl—\ (LoD o9

Example 3: Graph each line by using x- and y-intercepts.

al x+4y =8 % b) %x-—tly—mlz y
' 1 ifﬂ -
Kt et Mgy e A
. - Ka=td ] ~Yy= 17 y
X —}‘é i ‘j =% g N j %
% | j | , : %-.»:m 1 K’:_"/Lf Lj";j A= -
AR U == = Ex &\ - >
DL B
(, } ) k o T
A 4
Note: try 3a) again by converung to slope-
intercept form, Is the graph the same?
a(a X T ?5
ﬁ . U A "\’ 2
] Lf L i
You try for parts ¢) and d)! y y
¢) —10x — 30y = 30 -4 d) 6x - y = —12 - ‘?
N ! a i Jr\r}’ .
| . 2 . o 2., -
=10K = 30 w:aojvi‘@ AR ° x X - %i {ﬂ -1
S SR VEE ]
)< B "5 ] \:j T } : I -
| 2
ji v J < T

www.washoeschools.net/DRHSmath
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j“—\.igevbi“a 1 Chapter 2 Notes ' Graphing Lines

- Equations of Special Lines:

¢ Horizontal Line: . Vertical Line:

—n

M X i
[stop=0 ) (Slope = wadubne )

Example 4: Write the equation of each special line described.

T

a) The horizontal life passing through (-3,@} b) The vertical line panh é)}Z).
- _,-‘) e “ o __W}
ks G S I
¢) The vertical lygﬁing through(5,)-10). d) The horizontal line passing through (5,6 O))/
V%= S TgE%
e ’\‘ ,J; ----------------------------- \

Example 5: Sketch the graph of each equation. Notice that each is a special line. _

a) y=2 y b) —3x = —12 y ) —y=4 A

iﬂ L e P, . A oo :
} '3 S X - (‘f J L T ﬁ Lf .
TS J s r

verna L T hon Al Erbhg S
A 4 \ A v
You try! ; ) ,
C) ‘x:_s SNREE A T d) _3y: —~15 . : A x_._._ e) T = 14 SO— 1
J - oo P ETETRL — NSRS
\\({m } | N w>.\‘ ‘L/,:« g ; J e EAE [ K”“;; Z) < g
BENESENRARERS HM§M TR L/\E//%“‘b( T
Writing the equation of a line in Standard Form:
Ax + By = Cwk = A, B,and C are integers and A is positive.
”\mb\ L Nmovedx and By dems o left Sicle (Stgn chenge )
| %O / j

k / »‘Ml FYioveE wL,{_g OGrﬁ'f?a.-f C m .\'i:, ,H_{L ,/qf l;J; 5;&& (jjjﬁﬂ C/{;@{)
¥ FWC%}O;»E- mw»mfj‘i’s"«%” deviom Fo L= 3“/’*”‘{/7;67\&\
Yo 4 rogutive © et ply 4l] ferms By =~/

w

ww.,washoeschools.net/DRHSmath 13




Algebra 1 Chapter 2 Notes Graphing Lines

L‘xample 6: Write each line in standard form. Ax + By = C where 4, B,and € are mtegers and A is positive.

a)y—U+5 ] b)y———x+6 \
/»-/"“wl_: \\ _ ‘
“Zx:" 4 3 S -
VR [Sxty=%)
. -
You try for parts ¢) and d)! e
. gy=-7x-19 oy = —%
} 7x fuy =19 A N
—~ S Ay = ’/)
SR VZD G S Y =
| 32x_%g =1 )

Example 7: Paxton runs a summer camp, and he has budgeted $300 to spend on shirts and hats. The shirts cost
$20.00 each, and the hats cost $12.00 each. :

a) Write an equation that can model the situation if he buys x shirts and y hats.
20 ¥ 12 Y = - 30D

b) How many hats can he get if he only buys hats‘?
O shirrs 3 fnd ,j»-qw ,
f v j = 300

4= AT hen

d) How many shirts can he buy if he only purchases shirts?

O hax—a L4 X

ZO\(ﬂjoo

www.washoeschools.net/DRHSmath 14




Algebfa 1 Chapter 2 Notes Graphing Lines

. 2.4 Notes: Parallel and Perpendicular Lines

ﬂarm-up: \
1) Find the slope between the two points: (~3, -11) and (7, 5)

m= 5«71/ /L
o TR
. /473 5]
y Wi *
2) Graph the line: 5x — 3y = —15 i/i/
~1; e i T
Skz§ ng 21T ¢ + > x

N i Y

Parallel Lines (/f) . Perpendicular Lines (/-j—J
X Same Slope
¥ OLFF Y
V4 ‘
¥ ines reve infscet

¥ wes inderseet— ad
o ﬂji«q“ @’5/&
it S[Opé’S e affosfﬁé’;

-NC;P/@@&/[S“‘ (_’j”;’“)

www.washoeschools.net/DRHSmath 15




Algebra 1 Chapter 2 Notes

Graphing Lines

Example 1: For each line, identify its siope. Then find the slope of a line parallel to that line, and the slope of
a line perpendicular to the given line.

Lines . .. Slope .~ Parallel Slope “ | - Perpendicular Slope
y= —3x+5 . 3 = ‘,.._,,lm..
2 2. 2 .
y=x-—11 ] | )
3Ix =5y =7 3
Wx\%jz -3x v Wé - e ,,gm
T3 o S > 3
Y= e AT
2% + 6y = 14
By =2 41 ) - A >
“@j L“@ L, o }7 A D
S ERRCE At
x=-3 o
Lyid Sy [
g (/ (: el
L) (A

Examples 2 — 6; Are the graphs of each pair of lines parallel, perpéndicular, or neither?

2) y +6; 2y = —6x— 18
N )(‘—“6%:*”{25

S)ylébk 9; 4y'"'-16x+7

g

www.washoeschools.net/DRHSmath

Nx=-3x=-2
Qﬁ'j 02 Vﬂ/;ﬂd/%(

(7

You try for #5 — 6!

6) x = —18;y = 24

m‘ﬂ Y ey fm-é?

/(Jw\é) e A

W}L_ """"" ’%o &/\’70

) ) .
I’)O ] :5% a 'f‘k{’: _,..-é‘_,.g -

16




Aigébra 1 Chapter 2 Notes Graphing Lines

Writing Equations of Parallel and Perpendicular Lines

,,_fm |

Y Use Stne S oL
Y sfa 10 (hy Kform

at o[zgi}—r %ba{ﬁ:‘ L

H I opp TCPmad Sloge

L ¥sTak 1o ChK) Ao

Com bine ke (ombnne [ilce Herm.,

Jrirm;‘i |
Examples 7~ 10: Write the equation of the line that passes through the given point and is parallel t}i the given
line. Write your answer in slope-intercept form, =

| |
¥ dishh ket
i

D) (~4,9y=-2x+1
hk A

8) (5 ~2);3x —y = 12
B SR> e

i fﬁ\\ ;

Yo -2 (e r ) 14 y=@x-i2
=3 . Ve Bl e s
iﬂi“v{fé;li W“‘f 502

9) (j 2{/{/:15

You Try' Examples 11 —12: Write the equation of the line that passes through the given point and is ffarallel
to the given line. Write your answer in (h, &) form. -

1) (=6,1);2x +3y = 4

by ke

P

12) (—41.‘%, 2);x =15

www.washoeschools.net/DRHSmath
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Algebra 1 Chapter 2 Notes - Graphing Lines
Examples 13 — 16: Write the equation of the line that passes through the given point and is perpendicular to
the given line. Write your answer in slope-intercept form. ' :

13} ](4-,17);3) =(—2x+5 14) (21,~9);3x — 7y = 10

v Ve Yy s

15) {—7, ~2);

y=1

J

, C | A ekl e hosisente 0 00
) 'fi'l':-»J"-\"L:l‘i'i-'-m _ L{ ALY ( “ \ Lw ‘\u" fo 112 v e (4 (

P j g
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